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NPV, = -6,000,000-200,000 (P/A ,10%, 5) + 600,000 ( P/F,10%, 5)
= - 6,000,000 — 200,000 ( 3.790 ) + 600,000 ( 0.620 )

vite levuuun 1 = -6,386,000 UM ( Cleaver Brooks )

NPV, = -5,000,000 — 150,000 ( P/A ,10%, 5 ) + 500,000 ( P/F, 10%, 5)

= - 5,000,000 — 150,000 ( 3.790 ) + 500,000 ( 0.620 )

wite lorhuuun 2 = -5258,500 UM ( Loos Boiler )

NPV, = -4,000,000 — 100,000 ( P/A ,10%, 5 ) + 400,000 (P/F,10%, 5)
= -4,000,000 — 100,000 ( 3.790 ) + 400,000 ( 0.620 )

nite levuun 3 = -4,131,000 VN ( THI Boiler )

NPV, = -5,500,000 — 100,000 ( P/A ,10%, 5 ) + 550,000 (P/F, 10%, 5)
= -5,500,000 — 100,000 ( 3.790 ) + 550,000 (0.620)

vite lorhuuun 4 = -5,538,000 11N (Bosch Boiler)
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